
Hi, 

Why we don't have tax calculate based on family income?  

When we claim benefit from centrelink, they calculate base on family income. 

When we claim health insurance rebate, we can rebate base on family income. 

But why can't we pay tax base on family income? 

my friend and his wife each earn around $70000 p.a. can have a lot more money after tax than me 

earning >$100000 and my wife earning $40000. I think this is not fair to me. 

Please take this into consideration on the new tax reform. 

Cheers 

Cyrus 

 


